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a2 =2x83=2 SN =X
Hu: 2O EMEPE
SR HASS MEOE X CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
Al 3,750
01 AP 22| d| 7,500 7,500 0
OLEAN EES A2 29
7,500,000& = 1Al 7,500
= 3,750
Al 3,750
301 et A= 7,500 7,500 0
= 3,750
Al 3,750
01 Al E & A 462 7,500 7,500 0
OLEAN Se A 22 A
7,500,000& = 1A 7,500
= 3,750
Al 3,750
SHES UFY SEAHA I 176,400 132,400 44,000
= 123,480
Al 52,920
201 LBt 88,200 61,200 27,000
= 61,740
Al 26,460
01 AP 22| H| 88,200 61,200 27,000
OSHE U458 S MU A 29
4,200,000 = 2100 A 88,200
= 61,740
Al 26,460
301 et A= 88,200 61,200 27,000
= 61,740
Al 26,460
01 Al E & A 462 88,200 61,200 27,000
OsHsS Y58 SEMEIA ALY
4,200,000 * 2100 A 88,200
= 61,740
Al 26,460
Z0lJl= S X AHA XS 265,000 222,800 42,200
= 143,500
Al 121,500
405 XHA&HF S HI 265,000 222,800 42,200
= 143,500
Al 121,500
01 AL 2 ZF S| 265,000 222,800 42,200
O0IItE EXNAMEIA IFSFXH
265,000,000& = 14 265,000
= 143,500
Al 121,500
ZMHZ =S4 AUl &Day M= 4,000 0 4,000
201 gBt2Ay| 4,000 0 4,000
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SR HASS MEOE X CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 At 22l 4,000 0 4,000
O+ HlI &Day M=l 4,000,000 = 14l 4,000
S8s EX5Es =& A 25 4,440 10,920 A 6,480
202 044l 4,440 5,920 A 1,480
01 = LH o4 1l 4,440 5,920 A 1,480
Osld=k g2 =& 20,0008 * 3 = 742/ 4,440
2S5 Led BASXNHAANAY 29 2,640 3,000 A 360
201 Let24dy] 2,640 3,000 A 360
02 2324gHl 2,640 3,000 A 360
OLEsLe BEAZXNAAHAAE 2
220,000 * 123 2,640
AN Ag =SR2t = 2,552,139 2,167,162 384,977
= 243,016
Xl 509,000
< 317,706
Al 1,482,417
LMSIA MHlA 789,911 529,821 260,090
Xl 509,000
< 43,329
Al 237,582
NAXEE MIAMEIA EXNAS(2X)(ME) 727,143 512,053 215,090
Xl 509,000
< 43,329
Al 174,814
201 et 3,500 3,500 0
Xl 2,450
Al 1,050
01 At 221l 3,500 3,500 0
OXYXEd AtslMHlA EXAIY 29
3,500,000 * 14l 3,500
Xl 2,450
Al 1,050
202 044l 1,500 1,500 0
Xl 1,050
Al 450
01 SLHOYI 1,500 1,500 0
OXNYXEE AMSIMHIA EXNAYE 2F 0]
1,500,000 = 14l 1,500
Xl 1,050
Al 450
307 21201 A 722,143 507,053 215,090
Xl 505,500
=) 43,329
Al 173,314
05 RIZt2IE = 722,143 507,053 215,090
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2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OXNEXEd AlslMHIA EXFAE XIS
722,143,000 = 14! 722,143
N 505,500
o=t 43,329
Al 173,314
K GAS AHHI A AAHAS 17,768 17,768
201 Bt 13,328 13,328
01 AP 22| H| 10,400 10,400
OXE=EXNAYE 2949 2,000,000 = 14 2,000
OU=23 EAAY 29 4,400,000& = 1A 4,400
OE2XXNdEsEE M 4,000,000 = 14 4,000
02 Z2=2=24%4| 2,928 2,928
OsEgAMd22YRE SUHAET 22
30,000 * 404 = 12&€ 1,440
O=ZXIAF2EXICH =2 8928 sUH8E 22
80,000 * 14 = 12&€ 960
O2U==X 129 SHIEH H3=2
22,000 * 200 = 12&€ 528
202 04| 4,440 4,440
01 2Ll 4,440 4,440
OXE=2Xge =804
20,0002 x 3¥H = 743 4,440
4D LEAXNDAIS BEHE =& 45,000 0 45,000
307 2iz2to| & 45,000 0 45,000
11T AISIEXAIEEX 45,000 0 45,000
OMA4I| LEANXNGAISEEAHE =&
45,000,000 * 14! 45,000
Z2XAE 29 K& 889,834 602,090 287,744
= 243,016
& 17,175
Al 629,643
SEAMFEXNE 89 X 455,786 439,870 15,916
307 S12t0| & 455,786 439,870 15,916
10 AISIEXAIEEHE2IHIEX 455,786 439,870 15,916
O=etAz el 29X
455,786,000& * 14! 455,786
ASE222E M XS 216,076 0 216,076
= 216,076
301 et A= 216,076 0 216,076
= 216,076
0B MBI ERRIBHZS 216,076 0 216,076
OMIERRA XA 216,076,000& = 14 216,076
= 216,076
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224 ZBS(AN) - HRAY - BES e 2
EHAEXNZO0 MIIERRA SAH| 82,800 10,350
301 g4 = 82,800 10,350
0B A =R A4S 82,800 10,350
OAZISXIAIE ABI=SR2E
8,00 * 2302 82,800
HARAS RI28 XN 20,000 4,000
301 LAz 20,000 4,000
01 MI28E+06l= 20,000 4,000
O0d2HE /23 XN& 10,000,000& = 23] 20,000
M2 ZSXAIE SAMX =X X 70,560 3,960
< 14,112
Al 56,448
307 glz2tol & 70,560 3,960
< 14,112
Al 56,448
10 AL SXAIEEE2EH EX 70,560 3,960
OMSISXIAE BAXR 22X = A
s 2) * 14 70,560
= 14,112
Al 56,448
AMZISXAESALA &2 XA 6,126 A 1,044
< 3,063
Al 3,063
307 glz2tol & 6,126 A 1,044
< 3,063
Al 3,063
06 283 6,126 A 1,044
OMSIEXIAE SAR &2 It X
6 2 o« 14 6,126
< 3,063
Al 3,063
M SXAIE SAX HM & X2 38,486 38,486
= 26,940
Al 11,546
307 21201 A 38,486 38,486
= 26,940
Al 11,546
11 ALS S RAEE = 38,486 38,486
OAt2ISXIAIE SAA THHI e =
38,486,000& * 14 38,486
= 26,940
Al 11,546
HE=X 23 =4 872,394 A 162,857
< 257,202
Al 615,192
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CHAtH Otd SEX& 326,784 354,841 A28,057
< 65,357
Al 261,427
301 gt d= 326,784 354,841 A28,057
< 65,357
Al 261,427
01 Ml2ZHE 6= 326,784 354,841 A28,057
OUXHIIE SEXE 326,784
SOHRHADE Hstsa X &
60,000,000 = 14! 60,000
< 12,000
Al 48,000
oCHAHEHINE Dustita A&
266,784,000& * 14 266,784
< 53,357
Al 213,427
A JHEH X3 ALY 10,000 10,000 0
307 eI+l & 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
OZHEH &SA 10,000,000& = 14 10,000
JHCIEEA 2st4ay XA 156,000 156,000 0
< 156,000
301 et A=z 156,000 156,000 0
< 156,000
01 AR 2Z A5l 3 156,000 156,000 0
OdHesEXt =&t XN
100,000& * 130 * 123 156,000
< 156,000
NEASIEEEAM =294 115,000 105,000 10,000
< 6,000
Al 109,000
307 21201 A 115,000 105,000 10,000
< 6,000
Al 109,000
02 YAFAAFEX 21,000 21,000 0
O88s NIAEEEAN 45t
21,000,000& = 14 21,000
AN STANELEE2GHES 94,000 84,000 10,000
OXNSAZ 2 E AN 43t
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Al 24,000
OXYAS BEEAM 4 5H(ABIFIH)
64,000,000 = 14! 64,000
M3 =XCHE K& 7,000 5,000 2,000
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OHMI158l MEISXUE X
7,000,000& = 14 7,000
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Al 72,000
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< 13,000
Al 72,000
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Al 26,880
201 Let24E] 33,600 33,600 0
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< 6,720
Al 26,880
H8 SNHEE =4 16,000 17,600 A 1,600
201 Let24d| 16,000 15,600 400
01 At 22/l 15,000 14,600 400
O NE22U UX AE82
4,000,000& = 14 4,000
O=XNZEM 35 M 10,000
o222 M 5,000,000& = 14| 5,000
ocZXNFH g8 U ¥ fA3S Mzl
4,000,000& = 14| 4,000
cW=IHEN OHE ZA & 2=
1,000,000 = 14! 1,000
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< 675
Al 675
02801230 A0XS X
1,000,000& * 2% 2,000
< 600
Al 1,400
st 25 FA 5,000 5,000 0
201 £B-2%H| 5,000 0 5,000
03 SAH2 I 5,000 0 5,000
ONMEd 5 NI 5,000,000& = 14l 5,000
ool =X & 21,317,491 19,812,653 1,504,838
= 11,447,008
=) 1,457,077
Al 8,413,406
oo =23t - M=sg8s N 65,000 45,000 20,000
ZOHQ ALK& 65,000 45,000 20,000
307 glz2tol & 65,000 45,000 20,000
11T M SRASE EX 65,000 45,000 20,000
OFZOML =S AKX 45,000,000 = 14l 45,000
O&HOM=X SEAL 20,000,000& =« 14l 20,000
FUH=EXAE 2 XS 8,460,116 8,155,962 304,154
= 3,028,316
< 383,891
Al 5,047,909
ZoHeI=X2 249 1,352,000 1,352,000 0
307 21201 A 1,332,000 1,332,000 0
10 M2 SXNANEHE2IHEX 1,290,000 1,290,000 0
O&er=x2 29X 1,290,000
ocZfel=R2 29 1,255,000,000& * 14l 1,255,000
oTMOUSXZ PUAY SA X
35,000,000& = 14 35,000
11T MISXASEEX 42,000 42,000 0
OB R2HEHA 2% N
42,000,000 = 14l 42,000
402 212t X201 & 20,000 20,000 0
01 212t 2 AL E = (REM ) 20,000 20,000 0
OFMA=EX2 JIsE22AY
20,000,000& = 14 20,000
ZOHQ EEXAIE g ¢ 70,000 60,000 10,000
402 RIZER20l A 70,000 60,000 10,000
01 RIZt Xt 2 AL E = (REATH &) 70,000 60,000 10,000




AR =2NEE= SN =XEED
Hm: mojol =X =A
el ROFQIZSXAIL 29 X & (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OFel SXAIE e ¢
70,000,000& * 14l 70,000
R AFAIE 29 X& 4,261,352 4,105,714 155,638
= 2,982,946
< 255,681
Al 1,022,725
307 gl2tol & 4,261,352 4,105,714 155,638
= 2,982,946
< 255,681
Al 1,022,725
10 AL SXAIEEE2EH EX 4,261,352 4,105,714 165,638
QXM HAFAIE 2L X (3MHA)
4,261,352,000& * 14 4,261,352
= 2,982,946
< 255,681
Al 1,022,725
Zopel MATHEALE 2 635,683 548,253 87,430
307 21201 A 635,683 548,253 87,430
10 AL SXNAIEEE2EHEX 635,683 548,253 87,430
OO HATHEAE 2L (3HL)
635,683,000& * 14 635,683
ZoHe MNAMEBAILE JIs2S 93,140 20,000 73,140
= 45,370
< 45,370
Al 2,400
307 21201 A 2,400 0 2,400
11T AL S XA E = 2,400 0 2,400
OAME HACCPA & EHl X2 (3HI0ME)
2,400,000& = 14 2,400
402 212t X =201 & 90,740 20,000 70,740
= 45,370
< 45,370
02 212t 2 AL EZ (01X TH ) 90,740 20,000 70,740
OZOE MNIMHEANE JIsSES
90,740,000& = 14| 90,740
= 45,370
< 45,370
ZOHQ SIIAFAIE 2E N2 179,500 171,442 8,058
307 21201 A 179,500 171,442 8,058
10 ALSISXAIEEE2GHEX 179,500 171,442 8,058
OHME SHIANFAE 294
179,500,000& * 14l 179,500
ZOHQ E2SHEINE 29 324,924 256,810 68,114
307 glz2+ol & 324,924 256,810 68,114




ENEEE SH=2NEHDY
DO =X X
DEMU=ERANE 2E AR )
- _ — d =
224 ZBS(AN) - HRAY - BES 0l &t o e 2
10 AL SXNAIEEE2EH EX 324,924 256,810 68,114
SSHEINE 22 X2 (6HA)
324,924,000& * 14 324,924
O SSHEIE M X 7,128 10,692 A 3,564
< 1,426
Al 5,702
307 glz2tol & 7,128 10,692 A 3,564
< 1,426
Al 5,702
10 AL SXAIEEE2EH EX 7,128 10,692 N 3,564
OXHe SSMEIN e X
7,128,000& * 14 7,128
< 1,426
Al 5,702
Hel2dE MDA X3 8,400 8,400 0
< 1,680
Al 6,720
307 gl2tol & 8,400 8,400 0
< 1,680
Al 6,720
10 AL SXNAIEEE2EHEX 8,400 8,400 0
OMel2dg MIAE 29 X&
350,000& * 2JH 4 * 12& 8,400
< 1,680
Al 6,720
O F=2AESAE 2 561,918 510,441 51,477
307 21201 A 561,918 510,441 51,477
10 ALl SXNAIEEE2EHEX 561,918 510,441 51,477
OO FABSAIE 2 (3Ma)
561,918,000& * 14 561,918
ME0ls NALEH 29 324,000 279,560 44,440
307 21201 A 324,000 279,560 44,440
10 A SXAEHE2EHIEX 324,000 279,560 44,440
OMEOISKNAEE 2 324,000,0008 = 14 324,000
=otSAHH 29 215,000 183,280 31,720
307 21201 A 215,000 183,280 31,720
10 AL SXNAIEEE2EHEX 215,000 183,280 31,720
O34y 29 215,000,000& * 14! 215,000
oo SEgaEgs 29 N2 80,911 78,886 2,025
= 11,982
Al 68,929
307 I+l & 80,911 78,886 2,025
S 11,982
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NERE VRS- HEAY - Ba= e 2
Al 68,929
10 M3 EXANEEH 22X 80,911 78,886 2,025
O = ENE
59,911,000& * 14 59,911
< 11,982
Al 47,929
O 29 X&(Aldl F=3t)
21,000,000& * 14! 21,000
O H=AIA 64,800 64,800 0
< 12,960
Al 51,840
307 glz2+ol & 64,800 64,800 0
< 12,960
Al 51,840
10 AtSI = XAl 22X 64,800 64,800 0
OO A e DAL
64,800,000& * 14l 64,800
< 12,960
Al 51,840
ZOHASXAIE XEAS 2l 7,400 5,920 1,480
202 O4dl 7,400 5,920 1,480
01 = LH 4 Hi 7,400 5,920 1,480
OZMA=XE O Bl
20,000& = 5% = 743 7,400
ZOHU=SRNAE SAL =X=Y XA 273,960 273,600 360
< 54,792
Al 219,168
307 21201 A 273,960 273,600 360
< 54,792
Al 219,168
10 At2I 2 XAl 2ZHIEX 273,960 273,600 360
OZMASXAIE SMAKT SX=E X
273,960,000& * 14 273,960
< 54,792
Al 219,168
OHel Moty 5,665,006 4,882,524 782,482
= 3,892,900
< 503,440
Al ,268,666
MAS 0 (ZOH e = IND) 360,000 360,000 0
= 324,000
< 25,200
Al 10,800
301 et A Z 360,000 360,000 0
= 324,000
< 25,200
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ol FONQl M EOHH CER-ED
= - — SHE|
SA B E(BH) - NN - BYS 0l &F 24 e Hl D= 2t
Al 10,800
01 A3 2 E A 360,000 360,000 0
O&0H el A == HdAHAS0
360,000,000& * 14 360,000
= 324,000
< 25,200
Al 10,800
MO 2 ZEXE 34,917 30,000 4,917
307 glz2t0l & 34,917 30,000 4,917
10 At 2 XAl 34,917 30,000 4,917
OgHocl= &
34,917,000& * 1 34,917
HRIA 2 2= 21,648 21,648 0
< 4,330
Al 17,318
201 £B-2dH| 21,648 21,648 0
< 4,330
Al 17,318
01 At 22l 21,648 21,648 0
OZ eIl 21,648,000& * 1 21,648
< 4,330
Al 17,318
el =24 31,255 30,976 279
< 3,051
Al 28,204
307 glz2tol & 31,255 30,976 279
< 3,051
Al 28,204
11 A3 = XA 31,255 30,976 279
O=s&
15,255,000& * 1 15,255
< 3,051
Al 12,204
O=sZ (AIHIZ=D)
16,000,000& * 1 16,000
Holoig =™ 5,098,429 4,325,000 773,429
= 3,568,900
< 458,859
Al 1,070,670
301 L2 LS 5,098,429 4,325,000 773,429
= 3,568,900
< 458,859
Al 1,070,670
01 A3l EE A 5,098,429 4,325,000 773,429
O&ofere
5,098,429,000& * 14 5,098,429
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Al 1,070,670
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307 gl2tol & 56,000 50,000 6,000
10 AL SXNAIEEE2EHEX 49,000 45,000 4,000
OXOHIIEXNALEH 2Y
49,000,000& * 14 49,000
11T M SXAISE EX 7,000 5,000 2,000
OFOeIII=XJAMEH XJ  7,000,0008 = 14 7,000
ol sk EXNFY 6,000 21,000 A 15,000
201 L2l 6,000 21,000 A 15,000
01 At 22l 6,000 21,000 A 15,000
OXoel XrsX HEX F¢&  5,000,0008 » 14 5,000
OFMA=I7 PEXE FNE ol
1,000,000& * 14 1,000
ZOHQ HHOAILXRAMEH 29X A 56,757 0 56,757
< 12,000
Al 44,757
307 21201 A 56,757 0 56,757
< 12,000
Al 44,757
10 ALSISXAIEEE2IHEX 56,757 0 56,757
OO EHJALRNMEYH 2L XA
40,000,000& * 14l 40,000
< 12,000
Al 28,000
OZOMABAAISXNAHME 2D X2 (A=)
16,757,000& * 14 16,757
el elg=x & 885,832 861,981 23,851
= 521,699
< 72,827
Al 291,306
FoperelzHl XA 122,500 107,000 15,500
= 98,000
= 4,900
Al 19,600
308 XXIEHHSOIA 122,500 107,000 15,500
= 98,000
< 4,900
Al 19,600
10 B2 SUHUE3AHAE A I 122,500 107,000 15,500
O&Oel 2l=Hl XA 122,500,000& * 14 122,500
= 98,000
S 4,900
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AR ES Y 200,000& = 12& 2,400
S || 120,000 * 43| 480
oc=EBoME HE 3,000,000& = 14 3,000
= J|Et==EH| 2,310,000& * 14 2,310
O= &l 5,760
ocol=dRsd IAlYl
8,000& = 6H » 10 * 123 5,760
202 oddl 8,550 8,550 0
01 = LH o4 1l 8,550 8,550 0
OJl2g2=8 ol 90,000& = 19 = 53| 8,550
203 ¥ S =&l 5,520 4,200 1,320
04 ENSSIHRF=EHI 5,520 4,200 1,320
OFRN2IYS =2 460,000& = 12& 5,520
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AR =2NEE= SN HEIIED
HH: 8. HH=XEA
Sl YHTS - LRUSH (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
OWHLZSIEANZLERAS &+
70,0003 * 25 = 23| 3,500
OWHZISITA E2E M
11,000,000& * 14 11,000
OWHAZSITAl ANIEE - HI&H A 2=
6,500,000& = 14 6,500
02 =224l 5,098 2,520 2,578
OZSTL AU SRS
7,200 * 590 A& + 12 5,098
03 A2 Z Hl 5,000 5,000 0
OWEEBEAl ANUEH /385 L 23 N
zl 5,000,000& = 14 5,000
301 gt L= 16,800 11,720 5,080
09 HALAHIEAS 16,800 11,720 5,080
OWHAESITAl ANIZEHE &S
10,0003 = 40 = 123 4,800
OOtSetE XS HMZE AIRIEHE &3Hl
10,0003 = 40H =« 253| 10,000
OWEEaEZAl EAHM - 233 28 & N
i 2,000,000& = 14 2,000
401 Al HI & 28I 50,000 90,000 240,000
01 A& HI 50,000 90,000 240,000
O33ANE=2 04l &3dxd
50,000,000& = 14 50,000
HE=EXNLEe2 25 NE 21,115 26,400 A5,285
< 4,223
Al 16,892
201 Let249] 21,115 26,400 A5,285
< 4,223
Al 16,892
01 At 22l 21,115 26,400 A5,285
OZdttza=Rue 2= XA
21,115,000& = 14 21,115
< 4,223
Al 16,892
MEISXAIE SAX 2X+E 45,840 39,840 6,000
< 9,168
Al 36,672
307 21201 A 45,840 39,840 6,000
< 9,168
Al 36,672
10 M2 SXNANEHE2IHEX 45,840 39,840 6,000
OMSISXIAE SAX 22X ==&
45,840,000& = 14 45,840
< 9,168
Al 36,672




AR =2x8Y= SN OIS D
=R R S S
Sl YHTS - LRUSH (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
MEME XNE2Y 435,126 418,980 16,146
= 318,706
< 23,284
Al 93,136
307 gl2tol & 435,126 418,980 16,146
= 318,706
< 23,284
Al 93,136
11T M SRAISE EX 435,126 418,980 16, 146
OZaHENHE HYXZ ALY
435,126,000& * 14 435,126
= 318,706
< 23,284
Al 93,136
248 JtE2% &4 1,237,697 1,118,103 119,594
= 851,198
< 72,960
Al 313,539
A8 IE=28 A 23| 3,600 4,800 A 1,200
202 04l 3,600 4,800 A 1,200
01 = LH 4 Hi 3,600 4,800 A 1,200
OALIE g8 ol
20,0008 = 3% = 602l 3,600
AL 2s 24 & X 8,100 7,550 550
201 Let24d] 900 350 550
01 At 22l 900 350 550
o2g+g 900
o0t0IEE MHIA M3BJI2 SARIdS =¢
70,000& = 59H 350
o= MAYUSE =T  550,000& = 14| 550
307 21201 A 7,200 7,200 0
11T MISRASEX 7,200 7,200 0
OsHER d=5804 1,200,000 * 6% 7,200
NEEHEZ2OY 29 10,000 10,000 0
201 Let24d]| 10,000 10,000 0
03 A2 10,000 10,000 0
ONEREZZNH2H 10,000,000& 14 10,000
OtOl =SS K& At 1,215,997 1,095,753 120,244
= 851,198
< 72,960
Al 291,839
301 et d = 790,000 591,707 198,293
= 553,000




AR =2x8Y= SN OIS D
HH: 8. HH=XEA
Sl AW JIE2S X4 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 47,400
Al 189,600
01 MEI2BZE+06l= 790,000 591,707 198,293
OMIEZHERE FRXIS M EH(ALH])
790,000,000 = 14l 790,000
= 553,000
< 47,400
Al 189,600
307 glz2+ol & 425,997 504,046 AT8,049
= 298,198
= 25,560
Al 102,239
11T MISRASEX 425,997 504,046 AT8,049
OO0l0ISsSMHIAR SO 2 2EH|
425,997,000 * 14l 425,997
= 298,198
< 25,560
Al 102,239
HEJAASE A 487,602 435,006 52,596
= 5,000
J| 240,559
< 80,301
Al 161,742
240 22 € s 2 9,200 9,200 0
201 Ler24] 4,200 4,200 0
01 At 2t 2l 4,200 4,200 0
Oos22 M= 3,000,000& = 14l 3,000
OZd Hegns =4 600,000& = 23| 1,200
307 glz2tol & 5,000 5,000 0
11T M SRASE EX 5,000 5,000 0
OJNE=Y - d=< - 4010 - 43S gu=
X 5,000,000& = 14 5,000
&= Tolk AAES 13,120 15,120 A 2,000
201 Let249] 2,400 2,400 0
02 =24l 2,400 2,400 0
ONSASA S HaY BRl422
600,000& * 40 A 2,400
307 21201 A 7,720 7,720 0
11T AR SXAIEE =X 7,720 7,720 0
ONE=ZHIUNANESAE OtsnEXE
1,000,000& * 14 1,000
o4t ™dE2e 80,0008  7&H « 128 6,720
402 RI2HX=01 M 3,000 5,000 A 2,000
01 2I2E 2 A B (KM 3,000 5,000 A2,000




AR =2x8Y= SN OIS D
YA 9. H4EN5A
S9l OB ALY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OtZ=Egaga Jls22 3,000,0008 « 14 3,000
atolalda z2el 3,500 3,000 500
201 Lt 3,500 3,000 500
01 At 22l 500 500 0
Od3stol AH4 22l 125,000& * 42| 500
03 AH2 I 3,000 2,500 500
OB Al AEY 3FE JIEAM
3,000,000& = 14 3,000
Ots - gt X9l 29 7,000 7,240 A 240
= 3,500
< 700
Al 2,800
201 2et24d] 7,000 7,240 A 240
= 3,500
< 700
Al 2,800
01 At 22l 3,000 2,660 340
O0ts - 4getd XAt 29
3,000,000& = 14 3,000
= 1,500
< 300
Al 1,200
03 AH2 S HI 4,000 4,580 A 580
Oot= detd Xl 2
4,000,000& = 14 4,000
= 2,000
< 400
Al 1,600
OtsH™EXIS MZE XI& 3,000 4,282 A1,282
= 1,500
< 300
Al 1,200
307 21201 A 3,000 4,282 A1,282
= 1,500
= 300
Al 1,200
11 AL S XA E = 3,000 4,282 A1,282
OOtstEXE M= 3,000,000& * 14l 3,000
= 1,500
< 300
Al 1,200
NHEZLHIHN ESAE 2FRJ 102,162 90,219 11,943
J| 71,513
=) 15,324
Al 15,325
307 glz2+ol & 102,162 90,219 11,943




AR =2x8Y= SN OIS D
YA 9. H4EN5A
SR HERAASH AY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 71,513
=) 15,324
Al 15,325
10 ALSISXAIEEE2EH EX 102,162 90,219 11,943
ONE=ZIdK BEsAd 2Y
102,162,000& * 14 102,162
J| 71,513
< 15,324
Al 15,325
IIE =LA ESAE 2 XNAJIsEZ) 2,600 5,400 A2,800
J| 1,300
< 650
Al 650
402 RI2EX=20l A 2,600 5,400 A2,800
J| 1,300
< 650
Al 650
02 LA TEALEZ(0IETHR) 2,600 5,400 A 2,800
OJJE=ZHIUHA E3AE JIsE
2,600,000& =+ 14l 2,600
J| 1,300
< 650
Al 650
JIIE =Y ESAE 2L XA (H2= MAHHI) 9,800 10,490 A 690
J| 9,800
301 et 8= 9,800 10,490 A 690
Jl| 9,800
01 MEI2EZE+05l= 9,800 10,490 A 690
ONE=gUdX ESAIE Hl==2 MAYI
9,800,000& * 14 9,800
J| 9,800
JIEEZH oA HNgE&d XA 3,000 3,000 0
J| 2,100
< 270
Al 630
307 glz2tol & 3,000 3,000 0
J| 2,100
< 270
Al 630
11T M SRASEX 3,000 3,000 0
OJE=4Ioi it MNgEad X
3,000,000& = 14 3,000
J| 2,100
< 270
Al 630
NE=SGIUNA Mg =Z20H 43,000 43,000 0
J| 30,100
< 3,870




eV EEE 24 OEIED
HH: BS - H4=XBH
Tl OIMAAET AR o aw)
= _ — SHE|
S.2M-BH . G(S) - HEAY - BES e %
Al 9,030
307 glz2tol & 43,000 ,000 0
J| 30,100
< 3,870
Al 9,030
11T M SXASEEX 43,000 ,000 0
OJXXEZ=gIcHA Xgsl==220Y
43,000,000& * 14l 43,000
J| 30,100
< 3,870
Al 9,030
IFEEZLIH AL =8l K& 11,714 , 715 A
J| 8,200
< 1,054
Al 2,460
307 glz2tol & 11,714 , 715 A
J| 8,200
= 1,054
Al 2,460
11T M Z2XAIS EX 11,714 715 A
OJE=4noi Xt 2=l K&
11,714,000& * 14 11,714
J| 8,200
< 1,054
Al 2,460
HEEY 23 A4 SMAL ExUS 2,584 ,584 0
Jl| 1,292
= 646
Al 646
307 glz2tol & 2,584 ,584 0
J| 1,292
S 646
Al 646
11T M Z2XAIS EX 2,584 ,584 0
ONWE=g 2 A& SAXN EFuS
646,000& » 4H 2,584
J| 1,292
< 646
Al 646
HEEHLES 2HAE 82,908 ,690 9,218
J| 41,454
< 20,727
Al 20,727
307 gl2tol & 82,908 ,690 9,218
J| 41,454
< 20,727
Al 20,727
10 AL SXNAIEEHE2EH EX 82,908 ,690 9,218




AR =2x8Y= SN OIS D
Hu: 28 042X5X
S9l OB ALY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ONE=gags 29 82,908,000 = 14l 82,908
J| 41,454
< 20,727
Al 20,727
4% - 384 8a 2SN 75,610 73,688 1,922
J| 37,805
< 18,902
Al 18,903
307 21201 A 75,610 73,688 1,922
J| 37,805
< 18,902
Al 18,903
10 ALSISXAIEEE2GHEX 75,610 73,688 1,922
Osgagasr 24 75,610,000& * 14! 75,610
J| 37,805
& 18,902
Al 18,903
AEZYIH A N2 20H 4,200 4,200 0
J| 2,940
< 378
Al 882
307 gl2tol & 4,200 4,200 0
J| 2,940
< 378
Al 882
11 AL S XALEE = 4,200 4,200 0
OLZgIX Ngsl=xz0y
4,200,000& = 14 4,200
J| 2,940
< 378
Al 882
AZSIo A 2 =28l ,2tEH K& 16,500 13,500 3,000
J| 11,550
< 1,485
Al 3,465
307 21201 A 16,500 13,500 3,000
J| 11,550
< 1,485
Al 3,465
11 ALS S XAEE = 16,500 13,500 3,000
Od=Zdmloil At o=l (2EHl Z&)
16,500,000& * 14 16,500
J| 11,550
< 1,485
Al 3,465
d=ZS0oiAt 24, =S E RUHEE X 200 250 A B0
J| 200




AR =2x8Y= SN OIS D
Hu: 28 042X5X
SR HERAASH AY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 200 250 A50
J| 200
11T M SRASE EX 200 250 A50
O&Z=dIloli Xt 24 S=H S, FUHHS
200,000& * 14 200
J| 200
d=Z4 Jiol At n¥BNsE220d8 29 16,690 0 16,690
J| 11,683
< 1,502
Al 3,505
307 gl2tol & 16,690 0 16,690
J| 11,683
< 1,502
Al 3,505
11T M 2XALSE EX 16,690 0 16,690
OdZg8Iloi At nEXNSsEZZ20H
16,690,000& * 14 16,690
J| 11,683
& 1,502
Al 3,505
IHEEZEH Dol DnEFXNSEZZ208 29 15,174 0 15,174
J| 10,622
< 1,365
Al 3,187
307 gl2tol & 15,174 0 15,174
J| 10,622
< 1,365
Al 3,187
11T ALS S XAEE = 15,174 0 15,174
OXNEFE=DIo At B2
15,174,000& * 14 15,174
J| 10,622
< 1,365
Al 3,187
I ZHINA BESAE 2D (S XA 17,740 17,740 0
< 3,548
Al 14,192
307 gl2tol & 17,740 17,740 0
< 3,548
Al 14,192
10 ALl SXNAIEEE2EH EX 17,740 17,740 0
OJNE=LIiMHESAE 2Y
17,740,000& * 14 17,740
< 3,548
Al 14,192
IIEEY - 4= SFAEL 2 (ZXHA) 43,900 42,688 1,212
< 8,780




a2 =2x83=2 SN HEIIED
M 28 4=2NE
S9l OB ALY (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
Al 35,120
307 2iz2to| A 43,900 42,688 1,212
&< 8,780
Al 35,120
10 MM SAANEEHESIGHEX 43,900 42,688 1,212
Ossads 29 43,900,000& * 14l 43,900
o= 8,780
Al 35,120
ZaoiHE MHEER N (SXA) 4,000 4,000 0
=} 800
Al 3,200
301 et A= 4,000 4,000 0
& 800
Al 3,200
01 Al BE& X 262 4,000 4,000 0
OZ=E0oid N XN
4,000,000 = 14 4 000
= 800
Al 3,200
MNAESSERIIAEXNZSN 1,564,000 1,672,596 A 108,596
J| 595,000
& 177,600
Al 791,400
DAUINEEXNANE 29 307,000 289,000 18,000
307 giztol A 307,000 289,000 18,000
10 MM SAANEEHESIGHEX 307,000 289,000 18,000
OBXINE=INAE 29 N
307,000,000& = 14l 307,000
DRI AAMEY Tz X 5,000 5,000 0
307 2iz2to| & 5,000 5,000 0
11T AISIEXAIEEX 5,000 5,000 0
ORI BAeY Tz X
5,000,000& = 1Al 5,000
SRIIE=SXAE EAX ANHEHEZ 24,000 20,000 4,000
301 LBt A= 24,000 20,000 4,000
01 Al E & A 452 24,000 20,000 4,000
ORXINEEXNANAE &K HEIHFEHZ
3,000,000& = 8™ 24,000
SHEL2IIE AHH =4 A 22,000 22,058 AB8
= 11,000
Al 11,000
301 et A= 22,000 22,058 A B8
o= 11,000
Al 11,000




M 6EFY

SHROYEXSE (B9 ®R)
- _ — d =
-GS (3H) - NRAY - BES 0l &k o4 e HlnE2
01 MI2EZE+06l= 22,000 22,058 A58
SIR22ItE TtH W=sHl K&
22,000,000& * 14 22,000
< 11,000
Al 11,000
SE0HE HEHHX R 460,000 451,782 8,218
< 92,000
Al 368,000
gte A g 460,000 451,782 8,218
< 92,000
Al 368,000
01 MEI2EZE+05l= 460,000 451,782 8,218
ONASSHEDIE MEUHI
460,000,000& = 14 460,000
= 92,000
Al 368,000
f2 ors2=dH s NE 722,500 834,840 A 112,340
J| 578,000
< 72,250
Al 72,250
Sl = 722,500 834,840 A 112,340
J| 578,000
< 72,250
Al 72,250
AEHEH+H= 722,500 834,840 A 112,340
BR2 OlSYSH S N
722,500,000& * 14 722,500
Jl| 578,000
= 72,250
Al 72,250
Fad R LJEXNHA 17,500 16,226 1,274
J| 14,000
< 1,750
Al 1,750
BtEAZ 17,500 16,226 1,274
J| 14,000
< 1,750
Al 1,750
01 Ml2ZE 05z 17,500 16,226 1,274
a4 22 XA 17,500,0008 « 14 17,500
J| 14,000
< 1,750
Al 1,750
&g - Xz X 6,000 3,690 2,310
J| 3,000
< 600
Al 2,400




M 6EFY

SRR H=N S (B9 ®R)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
307 glz2tol & 6,000 3,690 2,310
| 3,000
< 600
Al 2,400
11 AISI S XA E = 6,000 3,690 2,310
OStRZINE=ERNAE LdaX & - 2K
6,000,000& = 14 6,000
| 3,000
= 600
Al 2,400
20t - U235 N&E 784,538 599,539 184,999
= 41,994
| 365,470
= 42,758
Al 334,316
AZ0tE - OEHE XN 102,140 100,090 2,050
201 Let249] 1,890 1,840 50
01 At 22l 1,890 1,840 50
Oger2dHl 1,890
ocUI2IIEXNEES 29
70,000& = 11H « 23| 1,540
ocAZIHE - U2 IS XNJEEH 2012 &
MRARAS = 70,000& = 59 350
301 LEtE A= 35,000 35,000 0
01 MEI2ZE 05z 5,000 5,000 0
OWEZE0ISX RAEINE HHII=n=
250,000& = 209H 5,000
06 212tol= 2l 04 dl 28,000 28,000 0
OoZeolgt 222X &  4,000,000&  7H 28,000
09 EAEHIE &S 2,000 2,000 0
OHMIAHIerel & &AL &t 2,000,000& = 14l 2,000
307 glz2tol & 65,250 63,250 2,000
01 2=2L =4l 6,250 6,250 0
OWLZ=0I2R A2H & 250,000 * 25H 6,250
11T M3 SXAISEEX 59,000 57,000 2,000
OMZEgM T2 2F  5,000,000& * 14 5,000
Odi&s otL2L &3 29
8,000,000& =« 14 8,000
OHM128l TH23tot= &totY HIAEE A
10,000,000& * 14 10,000
Ot=s Mg & oldlus 2
10,000,000& * 14 10,000
OCU=3ots d&2ds =203
8,000,000& =« 14 8,000




A= SANB= SA LIS
Ha: 2% 04=N5H
SRl AAINY - CREIE N (er:@e)
CRA - EH - ERA(E) - ARAY - BAS of 4 o4 il HI RS2
OHosl CLt23tIt= StotsS =2
5,000,000& = 14 5,000
ousIE 2 1E2Y N
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